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t:=1 N:=2 T:=N-t Up:=1 fi=——0 start := time(0)

U

N 4. 0

uy := foreach| 12| 0,— -1 ,’(n)(——n——
4 N 2

u = selectmany( repeat(ul ,4) ,'(X) « x)

U := [|t<« foreach(r2(0,N - 1),'(n) «<n- t)
augment(t,u)
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S := CFFT(u)

G = | f « foreach(r2(0,N — 1),'(n) <—n- f)
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augment(f, |S|)
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W :: —
17N

u(t,n) =

a:= 2-Re(S) b = -2-Im(S)

Cc« foreach(rZ(O,n) ,'(k) « ak-cos(k-wl-t))

S« foreach(rZ(O,n) ,"(k) (—bk-sin(k-wl-t))
? + Z foreach(rZ(l ,n),"(k) «ck + Sk)

ti=0, t.(N-1) t
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u(t, 15)
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time(0) — start = 0.406
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